Simple Trinomials

~ has __‘ﬂnee terms With the fol 21t vy
ax2+bx+c

- asimple trinomial has an"a" value of 1.

- we use a method of inspection to factor them.

EHECRIRGURIN

INSPECTION METHOD
- here's how it goes... "What two numbers?"

Adds to get "b"

Cax’+bx+c

‘Multiplies to get "c"

EXAMPLES... SOLUTIONS
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Another way to look at it:

1. x2+1x-6

What numbers multiply to give -6? What pair of factors could add

together to get 1?
list factors of 6:
1x6

-1+-6 -1+46 +1+-6 1+6
2x3
2+-3 -2+3 2+-3 2+3

\

00 much work

Add -5 Mutt-_16
-Q4-3 [x0
X3

(- Q)3

X2-5x+6

So must be 1 6

2 3 only pair

that works

(X_Z) (x_3) are your factors



x2+5x-6

So must be
only pair
-1 +6 that works

-2 +3

(X-l) (X+6) are your factors
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Factor Each of the following:
(Finish For homework) % \ - \O

1. £ - 14g+45 2 24172+ 60

3 % 18x+80 4 2 10+ 16

5 £ 6x+0 b - Tx+6

7. 2420+ 99 8 w£+32x-13

9 21,89 100 2 1z +43

11 2+ 11+ 30 12, 2 14g+33 -
13 24530 14 2 3% -70

15, 2 482-0 16, &2 - 162+ 55

17, 2+ 6x-72 18, 2+ 5%- 50

19, 2 + 10z + 24 200 2+ 6x-16

X" +20x +99
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